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Forested area, released item #3 (CMA161Q03) 

 

In the third item in this unit, students are again told to consider the data in terms of the two time periods, 2005 to 
2010 and 2010 to 2015, but this time they are asked to identify the two countries that had biggest change in their 

percentage of forested area from one time period to the other time period. Answers are given by selecting the country 

name from a drop-down menu. The order that the countries are given in the response does not matter. 

One possible solution method, which is reflected in the image above, is to perform the following sequence of 

operations using the spreadsheet (Note that these two calculations are the same two calculations that could also be 

performed in the second item in the unit): 

 “Column C subtract Column B” (the results of that operation are shown in Column E), which represents the 

change in the percentage of forested area for the time period 2005 to 2010. 

 “Column D subtract Column C” (the results of that operation are shown in Column F), which represents the 
change in the percentage of forested area for the time period 2010 to 2015. 

Once the students have calculated the change in the percent of forested area for each time period, they need to 
compute the change between the two time periods by performing a calculation such as “Column E subtract Column F” 
(the results of that operation are shown in Column G). Students may also find it helpful to sort the results in Column G. 
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The two countries with the biggest change between time periods are India (0.40 percentage points) and Colombia (-
1.29 percentage points). Full credit is given for correctly identifying both countries, and partial credit is given for 

correctly identifying one country.  

This is a very difficult item that scaled at Level 6 on the proficiency scale. Partial credit was also difficult at Level 5, 
and similar to the first item in the unit, requires doing the same work that is needed for a full-credit response. Students 
again have to devise a strategy for using the spreadsheet, which this time requires performing multiple operations, 

before being able to evaluate the results with respect to the context. Possibly contributing to the difficulty of this item 
is recognising that “biggest change” in this context does not just mean an increase, and in fact, one of the correct 
answers is the country with the biggest decrease in its percentage of forested area between time periods. However, 

unlike previous items in this unit, the correct countries can still be identified even if the signs of the results are reversed 
(due to the order that operations are performed) because students are looking for change in term of the absolute 

value, and not interpreting the results specifically as increases or decreases.   

 
Unit Name – Item # Forested Area – CMA161Q03 
Content Area Uncertainty and data 
Process Interpret/Evaluate 
Context Societal 
Item Format Complex Multiple Choice - Computer Scored 
Answers Full Credit: India and Colombia [in any order] 

 
Partial Credit: Only one selection is correct (other selection is incorrect or missing) 

Proficiency Levels 6 (full credit) 
5 (partial credit) 

 

  


